
ROCKSLIDEENGINEERING.COM   -   NEED ASSISTANCE?    435.752.4580   -   PAGE 1 REVISED 10/19/2021 

 

INSTALLATION MANUAL 

Made in the USA 

BRONCO 4 DOOR SKID PLATES  

2021 - PRESENT 

AX-SP-300-BR4 

NEW Skid Plates for the Ford Bronco Step Sliders! 



ROCKSLIDEENGINEERING.COM   -   NEED ASSISTANCE?    435.752.4580   -   PAGE 2 REVISED 10/19/2021 

 

HARDWARE 

Description Quantity 

Skid Plate (Pair) 2 

Drive Rivet 8 

5/16” - 18 Carriage Bolt 6 

5/16”  Washer 6 

5/16” - Nylock Nut 6 

Step 1 

REMOVE STEP SLIDER RSE TAG 

Using a size 7/64 drill bit, remove the two rivets 

on your step sliders Rock Slide tag. It will be 

replaced by the tag pre-installed on the  

outside of your skid plates.  

Repeat on both sides. 

Step 2 

PLACING YOUR SKID PLATE 

The skid plate will  layer on top of your step 

sliders, similar to a phone case. There are three 

square holes near each bracket where your 

5/16” carriage bolts will be placed. Hold the 

bolt in place and secure with a washer and  

Nylock nut.  

Repeat on both sides.  



ROCKSLIDEENGINEERING.COM   -   NEED ASSISTANCE?    435.752.4580   -   PAGE 3 REVISED 10/19/2021 

 

Step 3 

You are done! 

Scan this code to leave us a review! 

 

See our FAQ on the next page for any troubleshooting or give us a call! 

INSTALLING DRIVE RIVETS 

Remove Step Slider Plugs if they are placed. 

Pound the rivets by using a hammer.  

Repeat on both sides 

 



ROCKSLIDEENGINEERING.COM   -   NEED ASSISTANCE?    435.752.4580   -   PAGE 4 REVISED 10/19/2021 

 

WARRANTY POLICY 
LIMITED TWELVE (12) MONTH WARRANTY FOR FINISH AND ELECTRICAL COMPONENTS 

Rock-Slide Engineering, LLC (“RSE”) warrants to the original purchaser that (a) the structural and mechanical com-

ponents of the Step Sliders will be free of defects in material and workmanship for the lifetime of the Step Sliders (the 

“product”), and (b) the finish (powder 

coat) and the electrical components (including the motor) will be free of defects in material and workmanship for a 

period of twelve (12) months from the original date of purchase. This warranty applies only to the original retail pur-

chaser. Warranty is void if product was not 

purchased directly from R- SE or from an authorized RSE retailer or reseller. This warranty applies only with regard 

to the product as originally installed to the original vehicle. This warranty does not cover removal or reinstallation of 

the product. 

 

To exercise this warranty and receive any warranty service, the original purchaser must provide RSE with proof of 

purchase and date of purchase that is acceptable to RSE, such as a copy of the original purchaser’s purchase receipt. 

The original purchaser must return the 

defective product to RSE along with a description of the problem, a copy of the original purchase receipt, the original 

bill of sale and all contact information (name, address, telephone number and email address). To begin the warranty 

process, the original purchaser must 

email RSE’s warranty department. During this warranty term, and upon the original purchaser’s valid exercise of this 

warranty, RSE shall, at its option, repair or furnish the replacement product in the event the original product is deemed 

by RSE to be defective. RSE’s sole liability shall be for repairing or 

replacing the product, but RSE may refund the purchase price at its sole discretion and option. The original purchaser 

is responsible for prepayment of all shipping and/or transportation charges with respect to the exercise of this warran-

ty. The product may change without 

notice. In the event of a product change, RSE has no obligation to upgrade or modify any older generation product. 

 

THE WARRANTY SET FORTH HEREIN IS THE ONLY WARRANTY COVERING THE PRODUCT. NO OTH-

ER WARRANTY EXISTS, EXPRESS OR IMPLIED, INCLUDING, WITHOUT LIMITATION, IMPLIED WAR-

RANTIES OF MERCHANTABILITY AND/OR FITNESS FOR A PARTICULAR PURPOSE. No retailer, reseller, 

dealer, agent, or employee is authorized to make any modifications, extensions, amendments, or additions to this war-

ranty. 

 

This warranty shall be void in its entirety if RSE determines that the product installation was modified, changed, al-

tered, customized or in any way used other than as instructed. Installation of the product without strictly adhering to 

the installation instructions shall void this warranty. Installation must be on the proper vehicle or warranty is void. 

 

RSE SHALL NOT BE LIABLE FOR SPECIAL, INDIRECT, INCIDENTAL OR CONSEQUENTIAL DAMAGES, 

UNDER ANY LEGAL THEORY AND/OR UNDER ANY CIRCUMSTANCE WHATSOEVER. IN ANY EVENT, 

ANY DAMAGES IN ANY SITUATION SHALL BE LIQUIDATED DAMAGES AND MAY NOT EXCEED THE 

RETAIL PRICE OF THE PRODUCT. RSE SHALL NOT BE LIABLE FOR ANY LOSS, DAMAGE OR INJURY 

DIRECTLY OR INDIRECTLY ARISING FROM THE USE OF OR INABILITY TO DETERMINE THE USE OF 

THE PRODUCT. THE ORIGINAL PURCHASER IS RESPONSIBLE TO DETERMINE THE SUITABILITY OF 

THE PRODUCT FOR ITS INTENDED USE, PRIOR TO USING THE PRODUCT, AND THE ORIGINAL PUR-

CHASER ASSUMES ALL RESPONSIBILITY AND RISK IN CONNECTION THEREWITH. 

For questions or concerns: please contact our office at 435-752-4580 and ask for the warranty department or email us 

at warranty@rockslideengineering.com.  


